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Q3.Q4 |K3~4 |FEFBELTESBAXIE BRI Em At 2% Q3,04 |k3~4 |BARXLAFEB(FEFELTESAAXIL) BRI Em
Q1,Q2 [Kk3~4 |BAODIGHERE N =M ARt (|Q1,02 |k3~4  |BARIILFEBRA(AAXDIEHEEE) N =M
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Q3 &4 EXLEBOEHDETHEET( ANy ay BRI =M ARt 224 |Q3 4 EREEIFE (B LEREDOHDETHEET( A Ay ay) R EiR
Q3 K1 RIBEEFMR I B B PN EaE-c A ekl 7K1 HhERIRIZER1E B E=
Q4 K1 RESEFZHMG T B E= At Q4 7K1 HhERIR BT ER2E B E=
Qt £2 RR—YHZE BKEELEF I Ml £z AR#t£ZE Q1 %2 AR—YILEE | il £z
Q2 £2 RR—YR R BREFHLEZT il 2z ARt a2E (Q2 %2 AR—YILERE il £z
Q3.Q4 |K3 RELIT— IS H— ARt &4 Q3,04 | K3 EfREEISa=—av 1A g fo—
Q2 A3 EEESF— CONSOLVO CHARLES GEOFFREY | ARt &% (Q2 A3 HES O—/NLREYSAT CONSOLVO CHARLES GEOFFREY
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Q1.Q2 (/K4 HffEB R BHE A 2FE Q1.2 |Kk4 Bif#E0Sa =4/ —23av 1B R BE
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Qf X5 BfEEB—1 CHOI JUNGAH ARt 22E Q1 X5 BfFEOSa =~ —av1a CHOI JUNGAH
Qt k4 HE#EB—1 R BE AR#t&ZE Q1 k4 BfFEOSa =~ —av1a R BHE

Q3 X5 BfEEB—1 CHOI JUNGAH A2 |Q3 X5 BEFEOSa =4~ —avla CHOI JUNGAH
Q3 k4 HE#EB—1 R BE UNG = o (k] k4 BfEISa =4~ —3avVa R BHE

Q2 X5 Bf¥EB—2 CHOI JUNGAH At 22 |Q2 X5 BfFEOSa =4~ —3av b CHOI JUNGAH
Q2 k4 Hf#EB—2 R BE ARt (Q2 7ka BfFEISa =4~ —av b R BE

Q4 X5 Bf¥EB—2 CHOI JUNGAH At 2FE Q4 X5 BfEEOSa =4~ —aVb CHOI JUNGAH
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Q3Q4 |5 ARAUEEC Ha BEF AM# &% (03,04 | X5 ARAUEEAZa=r—3v 1B #s V=7 BF
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